EQUATION OF A STRAIGHT LINE

1 Find the equation of the straight line with:

(@) gradient %.passing through (-6,5) (b) gradient—%,passing through (4,-3)
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2 Find the equation of the straight line passing through:
(a) (3,3)and (-4,-5) (b) (2,-8)and (7,2)
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3 Find the equation of the straight line passing through:
(@) (6,6) with an angle of inclination of 45°

(b) (=2,3) with an angle of inclination of 53° 8’ (tan 53°8" =~ %)
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4 Find the equation of the straight line parallel to the x-axis and passing through the point (5,2).

JZZ‘

5 Find the equation of the straight line parallel to the y-axis and passing through the point (=2,-4).

x = -2

6 The equation of the straight line with x-intercept 2 and y-intercept =5 is:
A 2x-5y-10=0 5x=2y-10=0 C 2x-5y+10=0 D 5x-2y+10=0

) _ 5/-
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8 | Write each equation in the form y = mx + ¢ and find the gradient of each line.
(@ 2x+3y=4 (b) 3x=2y=7 (c) 2y=6-3x (d) 5y-2x=8
a ZJL‘Hi(—-"z-L'f-lf b) y=t[32-F| =32 -7
) y=1- 4 Y Y=Lt =227
__ 3y +3 4 :i{2x+& -2y +E
°)9‘ z ) §=5[7<¥8) = 525

9 Indicate whether each statement is correct or incorrect for the line 2x + 3y - 12 =0.

(a) m—--Z T ® xinterccpt—6Trw, (c) y-intercept=-—4 ND (d) passes through (3,2) ﬂFrwSL

O\)— I(—ZX.'HZ) = —Lx+4 wﬁma;o . x=6

whoa (=0, 2x342x2-1L=0 waw
=0, 4= i (2,2) Gdlougn o R (o
11 Find the equation of the line containing the point (2,-3) that is:

(@) parallel to the line 3x+ 2y - 6=0 (b) perpendicular to the line 3x + 2y -6 =0

du’ Z[ 37(;!-6] 57(-4'5
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13 The coordinates of two points A and B are (0,-2) and (3,0) respectively. The x-coordinate of a point C on the

line AB is 6. Find:

(@) the equation of AB (b) the angle of inclination of AB
(c) the y-coordinate of C (d) the equation of the line through C that is perpendicular to AB.
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Y bub-24 0 B2 34
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14 Show that the line with equation 2x — y =5 is parallel to the line joining the points (~1,5) and (1,9).

ZX.—J = 5 e J:ZL—S gﬂo.olLMQ_
m=9-5 _4 -2
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